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CBT Practice test model answers

Accounts Preparation I (API)

Practice assessment 3
Section 1

Task 1.1
[image: image2.png][Extract from non-current assets register

Description Acquisition 4 " Funding
rial Number Date = method

|office equipment
|copier lowoans | 320000 Finance lease
[Vear ena 31036 400.00) 2:800.00)
[vear ena 3110357 400.00) 2400
1 s O s T T mm
[Reception desk-FaradyR oo | 1.20000 cash
[vear ena 3110336 3750 116250
[vear ena 31036 15000 101250
[vear ena 3110357 7500 i 600 3000%6
IMachinery
|ene machine cNG3491 lotoamxs | 16,400.00 Partexchange
[vear ena 311035 4,100.00) 1230000
[Vear ena 31036 3,075.00) 9.225.00)
[vear ena 3110357 230825 691875
Power lathe PH892 01046 | 10189.80 Hire purchase
[vear ena 310307 254745 764235





Task 1.2
[image: image3.png](a) Calculate the depreciation charge for the year on the new machine.
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Task 1.2, continued
[image: image5.png](d) How much did the business receive for the computer equipment? Ignore VAT.
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(e) Which ONE of the following is the main purpose of a non-current asset register?

To provide intemnal control.

To provide the selling price of a particular tem atthe time of ts disposal

To provide a measure of financial performance.

To provide figures for the year-end financial statements





Section 2

Task 2.1

[image: image6.png](a) Which of the following shows how the general ledger account for selling expenses looked at the beginning of the
financial year? Tick the correct answer.

Selling expenses.
E E
01/041X6_|Prepaid expenses [2.100
Selling expenses.
E E
[01/047X6[Prepaid expenses [2.100
Selling expenses.
E E
01/041X7 |Prepaid expenses [2.100
Selling expenses.
E E
[1/0307 [Prepaid expenses [2.100

(b) Complete the following statement:

On 3110307, the selling expenses account shows an adjustment for

s v L I v |





Task 2.1, continued
[image: image7.png](c) Calculate the selling expenses for the year ended 31/03/X7.

¢ [16250

The bank summary for the year shows payments for administration expenses of £23,700

(d) Update the administration expenses account for this, showing clearly the balance to be carried down.

Administration expenses

¥ ek 23700 Balance b/d 1970,g]
O [Batance ca Zima0fq]
»| Al
> 23700 2700

Before transferting the balance on the administration expenses accountto the income statement you find that the
payments figure for administration expenses includes £375 relafing to the period 01/02/X7 to 30/04X7.

(e) Complete the following statement:

An adustment of £ [125 needs to be made, which will
ended 31/03X7.

B2 the acministration expenses forthe year






Task 2.2

[image: image8.png]Extract from the trial balance as at 31 March 20X7

Ledger
balance

£

“Trial balance

or

£cr

vi[vi[vi[v][v][v][v][v][v][¥]

Allowance for doubiiul debls adjusiment
Captal 30000) 30000)
Disposal of non-current asset 780
Insurance costs 1300
Loan 1000
Loan nterest received 50 50
Wiscellaneaus income 2537
Payroll expenses 9600) 3500
Prepaid expenses 32|
Prepaidincome 245





Task 2.3

[image: image9.png]Extract from extended trial balance

DiE | Cig | Dig | Cif
[Accruals 310]
[Bank 2280| 880

[Closing inventory -income statement 15534
[Closing inventory - statement of inancial position 15536
[Pisposals of non-current assets, 270)

[Interest received 14|

[Office expenses 16490 310

[Ofice fumiture at cost 21000)

[Purchases 208300)

[Purchases ledger control account 20740)

[Rent receivable 38520

[Sales 260040)

[Sales ledger control account 28300)

[suspense B[ 940 880
VAT 2350) 0a0]





Task 2.3, continued
[image: image10.png](b) Show the correct journal entries to close off the interest received account and select an appropriate
narrative.

Journal

[Interest received 114]

fIncome statement account 14|

arratve:
Franst o erestrecev ot yoar e 31 Harch 35K ot ncome sttt v





Task 2.4
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Task 2.5
[image: image12.png]Use the following table to show the THREE adjustments you need to make to the listing of purchases ledger balances.

Amount

% Add Deduct

lAdustmentfor (1)

[Aqustmentfor (3)

[Aqustmentfor (4)





Task 2.6

[image: image13.png](a) Complete the following sentence:

To account for the uncertainty with the specific debtthe [allowance for doubtful debts Bl ccount
inthe [generalleager ] Should be used.

You are now working for a different business atits year-end. The financial statements show losses for the
Iasttwo years. The owner of the business tells you that he does not expectto generate a profit again

(b) Which ONE of the following accounting terms dominates under these circumstances?

Accruals

Consistency

Going concem

Prugence





